Multiplication and Division Knowledge Organiser
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There are 5 pairs of socks. , ,
There are 10 socks in total. 22 24 2
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There are 60 altogether. 10 20 30 40 50 60 70 80 90 100
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There are 6 5s. , | | ! ! {

There are 30 in total. 5 10 15 20 25 30 35 40 45 50
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Multiplication and Division Knowledge Organiser

There are 4 groups of 2 apples. There are 2 rows of 5 bread rolls.

There are 10 bread rolls altogether.
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There are 5 columns of 2 bread rolls.
There are 10 bread rolls altogether.

There are 4 equal groups

of 3 oranges. 2+2+2+2=8apples.

Put the shoes into groups of 2. Share the strawberries equally
into 3 groups.

15 shared equally between 10 + 10 = 20

There are 3 equal groups of 2. 3 groups is 5. Double 10 is 20.
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